BORILLA oPORTS

MANUAL FOR PRESS BENCH

(10000118)




‘“‘Wﬂﬂlllll SI’IIHTS

WWWWWWWW

mmmmmmmm

=
=




PUORILLA oPORTS

90-111

78-99

Unit weight: 30 KG
Dimensions complete: 125 cm x 57 cm x 78-99 cm
Maximum loading: 200KG




H Inside PAN-HEAN Bolt (¢10%65)-2PCS
- , i
] \
—1 | L Bolt (M10%67) ~4PCS T
| Q |
Insijge PAN 0 ,7 0 W 7 M
Bolt: (g s*mw\_ﬂj | 0 A v , |
T e = ||
0
, - Nut (M10) —4PCS — 0
7 D Washer (#10) —8PCS u j QL
| 0— _
h//v ﬂ MSMHQ@ Nu%@/
B N-HEAN




Washer (#10) —-8PCS

— Bolt (M10%67)—-4PCS

©)

Nut (M10) —4PCS




N\

N

NVVIVIMIVVVVVM

] Bolt (M10%75)—1PCS

ORRe,

Washer (¢10) -4PCS Nut (M10) —2PCS

O

@side PAN-HEAN Bolt (#10%65)-1PCS




V%65 @

M8%65 @8

SOdE—(89) IoySej

]

e]

o

—

-

o

=

9)

*

1

=)

N~—

|

L=

—

[PER———4

wn e
=
=

:

SdE—-(G9%8IN) 1 10d




J\l

SOdZ—(01@) IoYUsejp

©

SOdZ—(L9*%0TI) 1109

)




0 5

Inside PAN-HEAN Bolt (#10%65)-1PCS

I TN
7 PULL OUT "\

/ O |

! ROTATINGT Y \

Inside PAN-HEAN
Bolt: (@10%65)




	10000118说明书 1
	10000118说明书2
	10000118说明书3
	10000118说明书 Model (1)1
	10000118说明书 Model3
	10000118说明书 Model 31
	10000118说明书 Model (1)4
	10000118说明书 Model (1)5
	10000118说明书 Model 6

